uunhp 8.1

2

n=p 2 Uhwynp
n+ 48 = g +1 Jhwynp
(@—p)(g+p) =48 +1 Uhwynp
wywpnuwnby +3 Jhwynp
ntwebphg Utyp Ywd Jh pwlhup swubint nbwyenud 3 Uhwynphg unwuncd Gl
1 ywd 2 dhwynp:
n = 1 |nwnwd gpbinL nbwenud -1 Jhwynp
lu JGY wydbinpn (nwonwd gqnby -1 Jhwynp
ulinhp 8.2
Pninp rYtnh gnidwnp/uh ujweh rytinh gnudwpp 2 Jhwynp
Qhwwnynn tpte Gnjwyubph nhunwnpyned +3 Jhwynp
Udwpunb +2 Jhwynp
Pninp rYLph gnudwpp/Jh ujweh pYtiph gndwpp 2 dhwynp
Ggnhu gunuynn gwlwlygwd rhy Utd £ 18-hg +3 dhwynp
Udwnunby +2 Jhwynp
uunhp 8.3
Lot AM-h puupniuwyb hp swithny W nhunnwnpytp unwgywd Yhwnp 2 Jhwynp
BHCP wnpwuwagdbhE +3 Jhwynp
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